DIVISION WITH A REMAINDER (H - SET 4)

DIVISION WITH 5 Nane:
Time: Score: y—
51 424 =~ 5 = 16) 2791 =5 =
32) 4119 =5 = i) 2814 =5 =
33 3530 =~ 5 = 18) 3408 = 5 =
3 3286 + 5 = 9 843 +5 =
35 1312 =5 = 50) 4841 + 5 =
56) 3777 =5 = 51) 2550 =5 =
37 2676 = 5 = 2) 31325 =
35) 614 — 5 = 53 2630 =5 =
39) 793 =~ 5 = ) 1417 =5 =
10) 4159 = 5 = ) 3145 + 5 =
) 2538 +5 = 0 2845 =
2) 1209 = 5 = 57 3976 =5 =
13) 3210 = 5 = 58) 3280 =5 =
) 1669 = 5 = 9 1619 +5 =
15) 9930 = 5 = 60) 4219 =5 =
Mathematics: Division - Level T - Horizontal - Set 4 3 culu


https://www.workulum.com

